m c imf(x)=L limg(x)=M
(1) limc=c
(2)limx=a

(3 Lim(nﬁ (X)+c)=mL+cC

o U sl




1
m cC Ixi[r;f(x)=L Ixi[r;g(x)=M
(4) Ixi[g[f(x)i g(x)] = lem f (x)ilxip;g(x) =L+ M
(5 Ixim[ f(X)g(x)] = Iim f(X) lepg g(x) = LM

f(x)_L'I“f<X> i
ag(x)  limg(x) M

(M £0)
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2
P(X) n LI[T; P(x) =P(a),alR

—_ n n-1 n—-2
Pf P(x)=c x +c _,X ~+C _,X ~+--+CX+C,

limP(x) = lim(c,x" + c, X" +---+CX+C,)

by @),(3).(4) =c limx"+c _ limx"™+...+climx+c,

X—-a X-a X—-a
(by (5)) =ca"+c_a"  +---+ca+c,
=P(a)
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Ex1 Iirr21(x3 —2X+1)

Sol Iirrzl(x3 -2x+1)=2°-2[2+1=5
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3
R(X) imR(x) = R(a), la0 D,

_ P(x)
Pf R(X) =00’ P(x),Q(X)

|
. R(X) i P(X) - |m P(X) P(a) _ (a)
X a Xa Q(X) |ImQ(X) Q(a)

(by  1(6)) (by 2,Q(a) # 0)

T Al Mo M1l




2—
Ex2  lim*_—%
x-2 X+2
2
. X°-4
Sol |Im =0
X-2 X+

2—
Ex3  limX 2

X-2 X—2

2_
Sl limX =4

X2 X—2

:”m(x+2)(x—2)

X2 X—2
:Iirrzl(x+2)

=4

T Al Mo M1l



g f(g(x)
(DIimg(x) =b (2lim T (y) = 1(b)

im1(g(x)) = T(limg(x)) = 1 (b)

T Al Mo M1l




B4 100=2 1,900 =x,  limf(g0))

Sol lim f(g(x)) = f(limg(x)) = f(limx*) = f (4) =§
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5

(1) lim%¥x =a, a=0 nON
a<0 n=135:--

My T() =qimf(x),  limf()=0 nON
imf(x)<0 n=135, -

T Al Mo M1l




Ex5  lim(¥/x++/x) Ex6 igqg)( )
Sol L@(Wﬂ&) Sol I|m(1/ )
=2/8+.8 :
:2+2\/§ _\/)I(ngﬁ
-1
3
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